= A
N = 0] &F AF S & AN A
201908 &= 20l A LB H L JIEIEE S H SS& 0o
SN RS
HE: s42 MM, RS- OHEY 2
ool ASHHNERS (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SS3A0 51,193,896 41,719,704 9,474,192
= 5,442,791
Jl 7,517,446
= 38,233,659
SHE MAH RE - 0HHE 25 51,152,328 41,683,786 9,468,542
= 5,442,791
Jl 7,517,446
o 38, 192,091
MsEAAHERS 1,155,000 0 1,155,000
SiE oY U BAROS 105,000 0 105,000
201 et 30,000 0 30,000
01 AP 2t 2] H| 30,000 0 30,000
OsdtE o8y 235 s, 28 30,000
403 XX SHHS K20 & 75,000 0 75,000
01 XS A=2E X 75,000 0 75,000
OZ&AESAM X 75,000
DM =AML EX=R 1,050,000 0 1,050,000
308 XAHXIGH SOl A 1,050,000 0 1,050,000
01 AIKISHHEMNEXZ 1,050,000 0 1,050,000
ODNHIMA FAX EAXER 1,050,000
A0 AH DB A 12,323,346 9,699, 150 2,624,196
= 3,774,791
J| 3,337,446
=} 5,211,109
ANER0ZHSE M D 593,000 583,500 9,500
202 044 3,000 3,000 0
01 2L I 3,000 3,000 0
OANERN ¥ MH=7 gF2F&X 3,000
403 XX SRS K20 & 590,000 580,500 9,500
01 XS A2E X 590,000 580,500 9,500
OAEJAN BHIMNA 125,000
odldstA st 390,000
OR]UAE JIsd NHEXM AXXH 75,000
HASF = OHE M A 1,472,000 1,722,200 A 250,200
202 o4 H| 3,000 3,000 0
01 2L I 3,000 3,000 0
O M CHEMA HRFX 3,000
307 giztol A 800,000 800,000 0
02 It AAIE E X 800,000 800,000 0
OMrs =332 4K 800,000




RS0

CsttE e /RS - 0HHE &

(i}

DA DBt RS

2 S 4
DA - BB - S (3H) - HEAY Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 384,000 469,200 N 85,200
01 AIXSHMENMNEX= 384,000 469,200 A 85,200
OMAEol=etH 384,000
403 XX SHHS K20 & 285,000 450,000 A 165,000
01 MXHHAE2E =X 285,000 450,000 A 165,000
OASRLHE=Z 4 285,000
WS MA - RE 1,431,750 1,701,750 A 270,000
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0
OMNx=3g gRF4A 3,000
403 XX SHHS K20 & 1,428,750 1,698,750 A 270,000
01 AIXISHHMAZ2E X 1,428,750 1,698,750 A 270,000
OB MAND 135,000
Ot MAJAAT| XS 150,000
OS US| A A& 202,500
OME=XN2 HEANE 206,250
OMUEBSUIXHY 735,000
OIAD|BFR A 48,000 48,000 0
202 04| 3,000 3,000 0
01 2L Hl 3,000 3,000 0
OUMI L HRHT 3,000
308 MXISHHMSOIA 45,000 45,000 0
01 HXHHIMNEXZ 45,000 45,000 0
O Qlat &l =2-A THHH 45,000
EXMAMEH D 22,500 22,500 0
403 XX SHHMS X201 & 22,500 22,500 0
01 XS A2E X 22,500 22,500 0
O2F Atg Dt = 22,500
ANEKAN SUHS N (AL 3 1,968,565 2,337,400 A\ 368,835
J| 1,514,281
== 454 284
403 XX SHHS K20 & 1,968,565 2,337,400 A\ 368,835
J| 1,514,281
= 454 284
01 XS A2 X 1,968,565 2,337,400 A\ 368,835
OAE A0S U3t 1,968,565
J| 1,514,281
o= 454 284
NS0 &3 XK (D=H I 214,500 291,200 ANT6,700
J| 165,000




S S0l
M S M RS- OHHE 23
SR 10| F = D) = =S ¢§

H - (3 H) - MR ALY

OI

=

i
2m

H

49,500

403 A XM SXH=0lA

Il

in

214,500

165,000
49,500

291,

200

AT76,700

01 AXISHHA=2E =
DEHIOHE THHHAIE

hn X

214,500

214,500

165,000
49,500

291,

200

AT6,700

HE20F RO EESSH(MUXNEBZALENRE) (2

oy

853,464

656,511
196,953

,100

N 156,636

403 X SHHSA=01H

o

853,464

656,511
196,953

,100

N 156,636

01 MM =R x
SEHUXNZ2ZALXE

A

853,464

853,464

656,511
196,953

,100

N 156,636

HAEZO0F O RIOIESSsH(MTHAUUHXIAIE) (=

SRl

3,110,962
2,768,280

342,682

598,

600

2,512,362

403 TtXI M SA=01A

oW

3,110,962
2,768,280

342,682

598,

600

2,512,362

01 HXISHHG=EE

O &I A 0il A XI Al £ X &

o

, 110,962
3,110,962
2,768,280

342,682

598,

600

2,512,362

SHAFF(

JU

1)

S

H

351,000

292,500
58,500

351,

000

403 Xt

ball
a

ISt SXE0ld

Hhn X

351,000

292,500
58,500

351,

000

[EPAPNE= DDA

O& XN HM2A4

X

351,000
351,000

292,500
58,500

351,

000

o

10
Om

AP (H2+STHE)(

Il

2l

19,800

16,500
3,300

,800

403 AXHHS =0l A

mn <

19,800

16,500
3,300

,800

01 AXISHHA=2E =

19,800

,800




2N RS0
N SeeE 4o, | - 0HE HE

S 2ot d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

ON2+=&sXHE X 19,800
J| 16,500
< 3,300

D MAALSE NS XN (=2) 44,200 39,000 5,200
J| 34,000
= 10,200

403 MtXISHHE X201 E 44,200 39,000 5,200
J| 34,000
< 10,200

01 AXSHMA=2EE 44,200 39,000 5,200
OM=1NSEHALESUHS 44,200
J| 34,000
< 10,200

HAMSMALT I BFESAIE (2 0) 550,200 0 550,200
9 524,000
< 26,200

403 MHXISHE X201 H 550,200 0 550,200
J| 524,000
< 26,200

01 X EHHMA=ZLE L 550,200 0 550,200
OUANMEBYUAET 550,200
J| 524,000
< 26,200

EEEAS(HA AS)MMAE SEUHSRA (=) 86,840 496,600 A 409,760
J| 66,800
< 20,040

403 MtXISHH S =0l & 86,840 496,600 A 409,760
Il 66,800
< 20,040

01 AXSHMA2E X 86,840 496,600 A 409,760
OHA,&4E MHHHAIE SHat X 86,840
J| 66,800
< 20,040

SESES(04) MAUALSEUS NA(=1) 484,640 0 484,640
J| 372,800
< 111,840

403 XIS E X201 & 484,640 0 484,640
J| 372,800
< 111,840

01 X SHHAN2E= 484,640 0 484,640
OQI& THHHAIZ B s XI& 484,640
Jl| 372,800
< 111,840

0=0F ICT 858 XN (212) 37,785 71,500 A33,715
J| 29,065
< 8,720




2N RS0
N SeeE 4o, | - 0HE HE

(i}

S 2ot d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 37,785 71,500 A33,715
J| 29,065
< 8,720
01 X SHMA2E X 37,785 71,500 A33,715
OAE J0WZ0F ICT S8 EAAY 37,785
J| 29,065
< 8,720
gXE 3sdIH =4 N (21) 406,000 406,000 0
= 350,000
< 56,000
403 MtXISHHE X201 & 406,000 406,000 0
= 350,000
< 56,000
01 XM A=2EE 406,000 406,000 0
oOgXN=E SSZENMsdEXNE 406,000
= 350,000
< 56,000
QA MAL RS AlM SUHEH(AE)(=12) 380,000 0 380,000
J| 300,000
< 80,000
403 A X EHHS =0l A 380,000 0 380,000
J| 300,000
< 80,000
01 X SHHMA=2LE L 380,000 0 380,000
OQAMA & Al SUSH(A) 380,000
J| 300,000
< 80,000
QlMMAl R E AME SUsH(ZA)(=1) 21,000 0 21,000
J| 15,000
< 6,000
308 XX EHSOIA 21,000 0 21,000
Jl 15,000
< 6,000
01 HIXNHHBNEES 21,000 0 21,000
OQIMMAL S E AlM SHUHSEH(E A 21,000
J| 15,000
< 6,000
AN U3 X (3E7 A+SdSES S4)( 9,750 0 9,750
=1)
J| 7,500
< 2,250
403 MHXSHHSA=0l& 9,750 0 9,750
J| 7,500
< 2,250
01 HXSHMA2E X 9,750 0 9,750
O FE M= ZTI FSHAMY 9,750




2N RERAND
Hu: SAS MM, RS- 0IEY 2

(i}

EHe: oA DIBEEYS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

Pl 7,500
= 2,250

= B AXAE XS 217,390 0 217,390

403 XX SHHS K201 & 217,390 0 217,390

01 XIS RS2 X 217,390 0 217,390
O1F EHYAHEAALE X 217,390

SAMERESEHS L sdE FEFINMHA 7,290,520 4,570,985 2,719,535
= 822,000
J| 3,606,000
= 2,862,520

SENSHZE[Y 651,250 170,500 480,750

202 04| 5,000 5,000 0

01 2Ll 5,000 5,000 0
OssSas@Rsl A2 5,000

307 QI2t0| ™ 200,000 100,000 100,000

04 CIZ2tSHAPALS B X 200,000 100,000 100,000
OSSHE HHY L J|HSHA 200,000

308 XX SHAHSOIHA 298,250 25,000 273,250

01 AIXSHMEMNEX= 168,250 25,000 143,250
OZEIZCANY 2HXE 21,000
OZZZEE oMM HAF K& 21,250
O2RM= AZ=E 0|85 30,000
Ol =42 & Hef EHidl X & 96,000

10 B 2SUHUSHEAEAE A Y| 130,000 0 130,000
OEAY Tl M3 A& 130,000

403 XX SHHS K20 & 148,000 40,500 107,500

01 XIS AZ2E X 148,000 40,500 107,500
OZZTIZZC ALY AAZEH XS 18,000
O2ZE TCE JiZ24HH XA 60,000
OsdtE BHOHE X 70,000

MISEI|ELES 500,500 701,500 A 201,000

202 o4l 3,000 3,000 0

01 2Ll 3,000 3,000 0
OMIRE JIBtxd 22X 3,000

403 XX SHHMS K201 A 497,500 698,500 A 201,000

01 MXSHHXNEE X 497,500 698,500 A 201,000
OMIRE HEAA 337,500
O=sAts ZTEH AH 90,000
Osd2 TUAIE AIEMAALE 70,000

SEEMSRELMEHSAE 244,000 200,000 44,000




SN RSHND
M sitE da, RS - 0HHE ZE
Ol SABRSENE U S42 RERENA (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 2,000 2,000 0
01 At 22l 1,000 1,000 0
OXSZHH /¥ 29 1,000
02 =224l 1,000 1,000 0
OXSHEH mMAXI 2A 2| 1,000
202 OHl 2,000 2,000 0
01 = LH YI 2,000 2,000 0
OXSHH gRF2 2,000
308 XXM S0l A 240,000 196,000 44,000
10 B2 S0 3&HAE AR 240,000 196,000 44,000
OLIAEs=SLMEIUZHH 23 240,000
SsHEH (2) 1,053,170 842,985 210,185
= 822,000
= 231,170
308 XXIEHSO0IA 1,053,170 842,985 210,185
= 822,000
< 231,170
01 AXNHHBANEES 1,053,170 842,985 210,185
O=sHEH| 1,053,170
= 822,000
< 231,170
SHSOHAEXE(HE)(=22) 458,000 150,000 308,000
| 229,000
< 229,000
307 gl2tol & 458,000 150,000 308,000
| 229,000
= 229,000
02 IZHE M AHE L 458,000 150,000 308,000
OsMsSIHHE XN (HY) 458,000
| 229,000
< 229,000
SMS0HAE X (KE)(=22) 39,000 90,000 251,000
| 39,000
308 XXM S0l A 39,000 90,000 251,000
| 39,000
01 IXNHHBMNEES 39,000 90,000 A51,000
Ost20HAE X2 (XIH) 39,000
J| 39,000
MRS AMEXE(APC)(Z12) 4,005,600 2,098,000 1,907,600
| 3,338,000
< 667,600
403 XIS E X201 & 4,005,600 2,098,000 1,907,600
| 3,338,000




FN: RSE 0
i sds M, RS - 09HE 23
Ol SASRSEHE U S42 RSPINM CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 667,600
01 XM A2E X 4,005,600 2,098,000 1,907,600
O &K = & Al & X 2 (APC) 4,005,600
J| 3,338,000
< 667,600
SSNME 2 #2438 39,000 0 39,000
202 (44l 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
Oozd 243 gR=& 3,000
308 A EHHSOIA 22,500 0 22,500
01 HIXNHHNBHELS 22,500 0 22,500
Oo=Y Z&AM XN 22,500
403 MtXISHH S0l & 13,500 0 13,500
01 HAXSHMA=2EE 13,500 0 13,500
Oo=zg A&&H XA 13,500
MRS HES 300,000 0 300,000
307 21201 A 300,000 0 300,000
02 LB AAFEX 300,000 0 300,000
OMX=E HESHAY 300,000
sASZMHE=EH 1,616,700 1,448,141 168,559
= 355,000
J| 574,000
< 687,700
SNHESHESH 40,000 40,000 0
307 2201 A 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0
oaZEs FIAA 40,000
SA MY B43 X2 165,000 300,000 A 135,000
403 UHXSHHSA=0l& 165,000 300,000 A 135,000
01 HXSHMA2E X 165,000 300,000 A 135,000
OsAZeY 43 X 165,000
StESEcE 22 112,500 85,500 27,000
201 et 30,000 30,000 0
01 At 22l 30,000 30,000 0
Os+SttE 2503 8= 30,000
202 (4 Hl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
O=AZEERAES A2 4,000
308 X EHSOIA 78,500 51,500 27,000




=M RE
= o

M sitE da, RS - 0HHE ZE
CHelr SABMASH GEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HIXNHHNBHNEES 78,500 51,500 27,000
O=ttEtE 8 AL 34,000
OZXNASEHASH XA 44,500
GAPRI B =D tA S AHl XA (=1) 390,000 146,041 243,959
= 300,000
< 90,000
308 AHAIEHHSOIA 390,000 146,041 243,959
= 300,000
< 90,000
01 HXNHHNBHEELS 390,000 146,041 243,959
OGAP tE S 4 X 390,000
= 300,000
< 90,000
GAPAIE B&(=21) 55,000 100,000 A 45,000
= 55,000
403 XS E A0l & 55,000 100,000 A 45,000
= 55,000
01 HIXSHMA=2E X 55,000 100,000 A 45,000
OGAPAIE E & 55,000
= 55,000
AZAN & BtE MESH(31) 746,200 0 746,200
J| 574,000
< 172,200
403 Mt S E X201 & 746,200 0 746,200
J| 574,000
< 172,200
01 X SHHX2E= 746,200 0 746,200
OASAT & BHIIE Me=s4d 746,200
J| 574,000
< 172,200
2 dSF MY ZAE WD 108,000 0 108,000
201 £B-2d| 15,000 0 15,000
01 At 22l 15,000 0 15,000
OLd HEF 22 23 15,000
308 XXM SO0l A 18,000 0 18,000
01 IXNHHBNEES 18,000 0 18,000
OXZM He & SHE2el XN& 18,000
403 A X EHHS =0l A 75,000 0 75,000
01 X SHHA2E= 75,000 0 75,000
OX&d dsS=F &g JIBt == 75,000
AME Y= 290,000 270,000 20,000
= 145,000
< 145,000




SN RS
HE: s42 MM, RS- OHEY 2
el AdENS (el &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
XXM Mg s(=30) 260,000 240,000 20,000
= 130,000
< 130,000
307 gl2tol & 260,000 240,000 20,000
= 130,000
< 130,000
02 It HAHE L 260,000 240,000 20,000
OXITHH Al &8 wF ALY 260,000
= 130,000
< 130,000
SAZANEAH(ZD) 30,000 30,000 0
= 15,000
< 15,000
307 glz2+0l & 30,000 30,000 0
= 15,000
< 15,000
02 HAHFHAANGEEE 30,000 30,000 0
Os4AZE ANE A4l 30,000
= 15,000
< 15,000
stuga ResitE 32 27,861,762 25,695,510 2,166,252
= 346,000
< 27,515,762
SHES stuaA 20 32 27,411,962 25,695,510 1,716,452
202 44l 5,000 5,000 0
01 = LH 4 1l 5,000 5,000 0
O=M2 FSBSWIA PO EX 5,000
308 A EHHSOIA 27,406,962 25,690,510 1,716,452
01 HXNHHNBMNELS 27,406,962 25,690,510 1,716,452
Oz Ed stugal XA 25,300,327
OEY R4EMES DI X 2,106,635
ZTESSNA WA X AIYAE(ZD) 449,800 0 449,800
= 346,000
< 103,800
308 MtXIEHSOIH 449,800 0 449,800
= 346,000
< 103,800
01 HXNHHBHEELS 449,800 0 449,800
OxZSSSUHUWMUZLATA 449,800
= 346,000
< 103,800
st =S| &= 615,000 0 615,000
dAE ESHI =24 300,000 0 300,000




=M RE
= o

B Sa2 MO, 95 01E 2
e sag =) 25 (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 300,000 0 300,000
01 X SHMA2E X 300,000 0 300,000
OHGYE ANLJAUESEHRNEZL 300,000
T=ESAMNE IS8 2= 225,000 0 225,000
403 XSS A0l & 225,000 0 225,000
01 XM A=2EE 225,000 0 225,000
Ox=E=sAE 30|18 25 75,000
O+ s¢=2 ot dEEXA 150,000
=EMEZ FH ICT 4K 4 90,000 0 90,000
403 UHXHHSA=0l& 90,000 0 90,000
01 HXSHMA2E X 90,000 0 90,000
O+=dE G ICTHAMHX 4 90,000
HHR2IZH(RSA0DL) 41,568 35,918 5,650
JlE &3l 41,568 35,918 5,650
EM2E Jl2Z 41,568 35,918 5,650
201 LB-2E| 27,168 23,318 3,850
01 At 22l 27,168 23,318 3,850
ORN2Y AR 22l 27,168
202 oddl 10,800 9,600 1,200
01 = LH o4 1l 10,800 9,600 1,200
ORN2YE =UHAHH 10,800
203 YR =&y 3,600 3,000 600
04 RSS2 3,600 3,000 600
©202! olat 3,600




